CERTKILL

IBM
Exam P2050-005

IBM Commerce Solutions Supply Chain Mgmt Technical Mastery
Testvl

Version: 6.0

[ Total Questions: 30]

http://certkill.com


http://certkill.com
http://certkill.com

CERTKILL

IBM P2050-005 : Practice Test

Question No : 1

Shipments from a Vendor/Supplier or Customer (Return) location, direct toPlant,
Distribution Center, Warehouse, Customer, etc. are examples of which of the following
movement types?

A. Inbound Shipments
B. Outbound Shipments
C. Interplant Shipments
D. None of the above.

Answer: A

Question No : 2

TMS has a collaborative network of the following:

A. Carrier

B. Vendor

C. Customer

D. Both A and B.

Answer: D

Question No : 3

TMS can be used to manage which of the following transportation modes?

A. Truckload

B. Less than truckload (LTL)
C. Intermodal

D. All of the above.

Answer: D

Question No : 4
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